## Research Article

## Formulae concerning multiple harmonic-like numbers

Yulei Chen ${ }^{1}$, Dongwei Guo ${ }^{2, *}$

${ }^{1}$ School of Mathematics and Statistics, Zhoukou Normal University, Zhoukou, Henan, P. R. China
${ }^{2}$ School of Economics and Management, Nanjing University of Science and Technology, Nanjing, Jiangsu, P. R. China
(Received: 31 July 2023. Received in revised form: 25 August 2023. Accepted: 28 August 2023. Published online: 29 August 2023.)
© 2023 the authors. This is an open access article under the CC BY (International 4.0) license (www.creativecommons.org/licenses/by/4.0/).


#### Abstract

By means of the generating function method as well as Stirling and Lah inversion, several summation formulae involving generalized harmonic-like numbers and other combinatorial numbers named after Stirling, Lah, Hal and Fubini are derived.


Keywords: multiple harmonic-like numbers; Stirling numbers; Lah numbers; Hal numbers; Fubini numbers.
2020 Mathematics Subject Classification: 11B73, 05A19, 11B65.

## 1. Introduction and motivation

It is well-known that the classical harmonic numbers are defined by

$$
H_{0}=0 \quad \text { and } \quad H_{n}=\sum_{k=1}^{n} \frac{1}{k} \quad \text { for } \quad n \in \mathbb{N}
$$

where $\mathbb{N}$ is the set of positive integers. The generating function of $H_{n}$ is given by

$$
\sum_{n=1}^{\infty} H_{n} x^{n}=\frac{-\ln (1-x)}{1-x}
$$

Harmonic numbers have wide applications in number theory, combinatorics, and computer science. Properties as well as identities about them have already been explored extensively. In addition, many researchers also have studied other harmonic-like numbers defined in various ways [1-5, 9-11], and obtained a number of interesting results. For instance, Cheon and El-Mikkawy [1, 2] studied the following multiple harmonic-like numbers, which reduce, when $\ell=1$, to the ordinary harmonic numbers:

$$
H_{n}(\ell)=\sum_{1 \leq k_{1}+k_{2}+\cdots+k_{\ell} \leq n} \frac{1}{k_{1} k_{2} \cdots k_{\ell}}
$$

and obtained its generating function, given as follows:

$$
\begin{equation*}
\sum_{n=1}^{\infty} H_{n}(\ell) x^{n}=\frac{\{-\ln (1-x)\}^{\ell}}{1-x} \tag{1}
\end{equation*}
$$

Assume that $\left[x^{n}\right] g(x)$ stands for the coefficient of $x^{n}$ in the formal power series $g(x)$. Then, we get the following relation between $H_{n}(\ell)$ and Stirling numbers of the first kind:

$$
\begin{aligned}
\sum_{m=\ell}^{n} \frac{(-1)^{m-\ell}}{m!} s(m, \ell) & =\sum_{m=\ell}^{n}(-1)^{m-\ell}\left[x^{m}\right] \frac{\ln (1+x)}{\ell!} \\
& =\frac{1}{\ell!} \sum_{m=\ell}^{n}(-1)^{m}\left[x^{m}\right] \frac{\{-\ln (1+x)\}^{\ell}}{1+x} \times(1+x) \\
& =\frac{1}{\ell!} \sum_{m=\ell}^{n}(-1)^{m} \sum_{k=0}^{m}\left[x^{m-k}\right] \frac{\{-\ln (1+x)\}^{\ell}}{1+x} \times\left[x^{k}\right](1+x) \\
& =\frac{1}{\ell!} \sum_{m=\ell}^{n}\left\{H_{m}(\ell)-H_{m-1}(\ell)\right\}=\frac{1}{\ell!} H_{n}(\ell)
\end{aligned}
$$

[^0]where $s(n, k)$ denotes the Stirling numbers of the first kind generated by
\[

$$
\begin{equation*}
\frac{\ln ^{k}(1+x)}{k!}=\sum_{n=k}^{\infty} s(n, k) \frac{x^{n}}{n!} \tag{2}
\end{equation*}
$$

\]

Instead, by extracting the coefficient of $x^{n}$ in the generating function (1), the above relation can also be obtained [8].
By means of Riordan arrays, Cheon and El-Mikkawy [2] proved the following summation formulae about the multiple harmonic-like numbers $H_{n}(\ell)$ :

$$
\sum_{\ell=1}^{n} \frac{( \pm 1)^{\ell}}{\ell!} H_{n}(\ell)=\left\{\begin{array}{ll}
n, & "+" ; \\
-1, & \cdots-",
\end{array} \quad \text { and } \sum_{\ell=1}^{n} B_{\ell} \frac{(-1)^{\ell}}{\ell!} H_{n}(\ell)=H_{n+1}-1\right.
$$

where $B_{n}$ denotes the Bernoulli numbers. By examining the structure of these summation formulae, Guo and Chu [8] established, by making use of the following scheme [7, 8], seven classes of summation formulae involving the multiple harmonic-like numbers and other combinatorial numbers named after Bernoulli, Euler, Bell, Genocchi and Stirling numbers.

Suppose that the double-indexed sequence $\{\mathcal{D}(n, k)\}_{n \geq k}$, subject to $\mathcal{D}(n, k)=0$ when $n<k$, and the sequence $\left\{\lambda_{k}\right\}$ have generating functions

$$
\sum_{n=k}^{\infty} \mathcal{D}(n, k) x^{n}=h(x) g^{k}(x) \text { and } \sum_{k=\varepsilon}^{\infty} \lambda_{k} x^{k}=f(x)
$$

respectively, where $\varepsilon$ is a non-negative integer. Then, we can evaluate the sum

$$
\begin{align*}
\sum_{k=\varepsilon}^{n} \lambda_{k} \mathcal{D}(n, k) & =\sum_{k=\varepsilon}^{n} \lambda_{k}\left[x^{n}\right] h(x) g^{k}(x) \\
& =\left[x^{n}\right] h(x) \sum_{k=\varepsilon}^{\infty} \lambda_{k} g^{k}(x)=\left[x^{n}\right] h(x) f(g(x)) \tag{3}
\end{align*}
$$

In particular, when $h(x) \equiv 1$, we have

$$
\sum_{k=\varepsilon}^{n} \lambda_{k} \mathcal{D}(n, k)=\left[x^{n}\right] f(g(x))
$$

In addition to the harmonic numbers $H_{n}$ and $H_{n}(\ell)$ mentioned above, in this paper, we also investigate their alternating forms defined by

$$
\mathcal{H}_{n}=\sum_{k=1}^{n} \frac{(-1)^{k}}{k} \quad \text { and } \quad \mathcal{H}_{n}(\ell)=\sum_{1 \leq k_{1}+k_{2}+\cdots+k_{\ell} \leq n} \frac{(-1)^{k_{1}+k_{2}+\cdots+k_{\ell}}}{k_{1} k_{2} \cdots k_{\ell}},
$$

with generating functions

$$
\sum_{n=1}^{\infty} \mathcal{H}_{n} x^{n}=\frac{-\ln (1+x)}{1-x} \quad \text { and } \quad \sum_{n=1}^{\infty} \mathcal{H}_{n}(\ell) x^{n}=\frac{\{-\ln (1+x)\}^{\ell}}{1-x}
$$

In the next section, by making use of the scheme mentioned above we establish some summation formulae involving the numbers $H_{n}(\ell)$ as well as Lah, Hal, and Fubini numbers. In Section 3, we provide several identities involving alternating harmonic-like numbers $\mathcal{H}_{n}, \mathcal{H}_{n}(\ell)$, and other combinatorial numbers.

## 2. Identities involving $\boldsymbol{H}_{\boldsymbol{n}}(\ell)$

## Formulae concerning $H_{n}(\ell)$, Lah, and Hal numbers

The Lah numbers $L(n, k)$ was discovered by Ivo Lah in 1955 . These numbers are coefficients expressing rising factorials in terms of falling factorials [6, p.156]:

$$
(-x)_{n}=(-1)^{n}\langle x\rangle_{n}=\sum_{k=0}^{n} L(n, k)(x)_{k},
$$

where

$$
\langle x\rangle_{0}=1 \quad \text { and } \quad\langle x\rangle_{n}=\prod_{k=1}^{n}(x+k-1), \quad \text { for } \quad n \in \mathbb{N}
$$

The unsigned Lah numbers $|L(n, k)|$ count the number of ways to partition a set of $n$ elements into $k$ nonempty linearly ordered queues. Lah numbers $L(n, k)$ are generated by

$$
\sum_{n=k}^{\infty} L(n, k) \frac{x^{n}}{n!}=\frac{1}{k!}\left(-\frac{x}{1+x}\right)^{k},
$$

and have the explicit formula known as

$$
L(n, k)=(-1)^{n} \frac{n!}{k!}\binom{n-1}{k-1} .
$$

The Hal numbers $H(n, k)$ are generated similarly by

$$
\sum_{n=k}^{\infty} H(n, k) \frac{x^{n}}{n!}=\frac{1}{k!}\left(\frac{x}{x-1}\right)^{k} .
$$

By the generating functions of $L(n, k)$ and $H(n, k)$, we immediately obtain their relation

$$
\begin{equation*}
L(n, k)=(-1)^{n+k} H(n, k) . \tag{4}
\end{equation*}
$$

Theorem 2.1 (Identities involving $H_{n}(\ell), L(n, k)$, and $H(n, k)$ ).

$$
\begin{align*}
& \sum_{k=\ell}^{n}(-1)^{k} \frac{k!}{\ell!} L(n, k) H_{k}(\ell)=s(n-1, \ell-1)+s(n-1, \ell),  \tag{5}\\
& \sum_{k=\ell}^{n} \frac{k!}{\ell!} H(n, k) H_{k}(\ell)=(-1)^{n}\{s(n-1, \ell-1)+s(n-1, \ell)\} . \tag{6}
\end{align*}
$$

Proof. First, we prove the formula (5). Letting $\mathcal{D}(n, k)=L(n, k)$ and $\lambda_{k}=H_{k}(\ell)$. Then, from the generating functions of $H_{n}(\ell)$ and $L(n, k)$, we have

$$
\begin{aligned}
\sum_{k=\ell}^{n}(-1)^{k} \frac{k!}{\ell!} L(n, k) H_{k}(\ell) & =\sum_{k=\ell}^{n}(-1)^{k} \frac{k!}{\ell!} H_{k}(\ell)\left[x^{n}\right] \frac{n!}{k!}\left(-\frac{x}{1+x}\right)^{k} \\
& =n!\left[x^{n}\right]\left(\frac{\ln ^{\ell}(1+x)}{\ell!}+\frac{x \ln ^{\ell}(1+x)}{\ell!}\right) .
\end{aligned}
$$

By the generating function of Stirling numbers of the first kind (2), we evaluate the coefficient

$$
\left[x^{n}\right]\left(\frac{\ln ^{\ell}(1+x)}{\ell!}+\frac{x \ln ^{\ell}(1+x)}{\ell!}\right)=\frac{s(n, \ell)}{n!}+\frac{s(n-1, \ell)}{(n-1)!}
$$

Keeping in mind the recurrence relation

$$
s(n+1, k)=s(n, k-1)-n s(n, k),
$$

we get the desired result.
The formula (6) follows analogously, or from (4) directly.
By means of the Lah inversion

$$
f(n)=\sum_{k=0}^{n} L(n, k) g(k) \Longleftrightarrow g(n)=\sum_{k=0}^{n} L(n, k) f(k),
$$

we get, from Theorem 2.1, the counterpart two formulae, given in the next theorem.
Theorem 2.2 (Inversion formulae of (5) and (6)).

$$
\begin{aligned}
& \sum_{k=\ell}^{n} L(n, k)\{s(k-1, \ell-1)+s(k-1, \ell)\}=(-1)^{n} \frac{n!}{\ell!} H_{n}(\ell) ; \\
& \sum_{k=\ell}^{n}(-1)^{k} H(n, k)\{s(k-1, \ell-1)+s(k-1, \ell)\}=\frac{n!}{\ell!} H_{n}(\ell) .
\end{aligned}
$$

## Formulae concerning $H_{\boldsymbol{n}}(\ell)$ and Fubini numbers

The Fubini numbers (or the ordered Bell numbers) $\mathcal{F}_{n}$, counting the number of weak orderings of a set with $n$ elements [6, p.228], are defined by

$$
\mathcal{F}_{n}=\sum_{k=0}^{n} k!S(n, k)
$$

where $S(n, k)$ denotes the Stirling numbers of the second kind with the generating function

$$
\sum_{n=k}^{\infty} S(n, k) \frac{x^{n}}{n!}=\frac{\left(e^{x}-1\right)^{k}}{k!}
$$

Fubini numbers can be generated by the exponential generating function

$$
\sum_{n=0}^{\infty} \mathcal{F}_{n} \frac{x^{n}}{n!}=\frac{1}{2-e^{x}}
$$

and satisfy the recurrence relation

$$
\mathcal{F}_{0}=1 \text { and } \mathcal{F}_{n}=\sum_{j=1}^{n}\binom{n}{j} \mathcal{F}_{n-j}
$$

Theorem 2.3 (Identities involving $H_{n}(\ell)$ and $\left.\mathcal{F}_{n}\right)$.

$$
\begin{align*}
& \sum_{\ell=1}^{n} \frac{\mathcal{F}_{\ell}}{\ell!} H_{n}(\ell)=2^{n}-1  \tag{7}\\
& \sum_{\ell=1}^{n} \frac{(-1)^{\ell} \mathcal{F}_{\ell}}{\ell!} H_{n}(\ell)= \begin{cases}0, & n \equiv_{2} 0 \\
-1, & n \equiv_{2} 1\end{cases} \tag{8}
\end{align*}
$$

where $m \equiv_{k} n$ stands for " $m$ is congruent to $n$ modulo $k$ ".
Proof. Choosing $\mathcal{D}(n, k)=H_{n}(k)$ and $\lambda_{k}=\frac{\mathcal{F}_{k}}{k!}$ in Scheme (3), and according to the generating functions of $H_{n}(\ell)$ and $\mathcal{F}_{n}$, we get

$$
\begin{aligned}
\sum_{\ell=1}^{n} \frac{\mathcal{F}_{\ell}}{\ell!} H_{n}(\ell) & =\sum_{\ell=1}^{n} \frac{\mathcal{F}_{\ell}}{\ell!}\left[x^{n}\right] \frac{\{-\ln (1-x)\}^{\ell}}{1-x}=\left[x^{n}\right] \frac{1}{1-x} \sum_{\ell=1}^{\infty} \frac{\mathcal{F}_{\ell}}{\ell!}\{-\ln (1-x)\}^{\ell} \\
& =\left[x^{n}\right] \frac{1}{1-x}\left\{\frac{1}{2-e^{-\ln (1-x)}}-\mathcal{F}_{0}\right\}=\left[x^{n}\right]\left\{\frac{1}{1-2 x}-\frac{1}{1-x}\right\} \\
& =2^{n}-1
\end{aligned}
$$

Similarly, for the formula (8), we have

$$
\sum_{\ell=1}^{n} \frac{(-1)^{\ell} \mathcal{F}_{\ell}}{\ell!} H_{n}(\ell)=\left[x^{n}\right]\left\{\frac{1}{1-x^{2}}-\frac{1}{1-x}\right\}
$$

and the proof follows by extracting the coefficients.

## 3. Identities involving $\mathcal{H}_{n}$ and $\mathcal{H}_{n}(\ell)$

In this section, we examine the alternating harmonic-like numbers $\mathcal{H}_{n}$ and $\mathcal{H}_{n}(\ell)$.
Theorem 3.1 (Identity involving $\mathcal{H}_{n}, S(n, k)$, and $\mathcal{F}_{n}$ ).

$$
\begin{equation*}
\sum_{k=1}^{n} k!\mathcal{H}_{k} S(n, k)=-n \mathcal{F}_{n-1} \tag{9}
\end{equation*}
$$

Proof. From the generating functions of $\mathcal{H}_{n}, S(n, k)$, and $\mathcal{F}_{n}$, by setting $\mathcal{D}(n, k)=S(n, k)$ and $\lambda_{k}=\mathcal{H}_{k}$, we get

$$
\begin{aligned}
\sum_{k=1}^{n} k!\mathcal{H}_{k} S(n, k) & =\sum_{k=1}^{n} k!\mathcal{H}_{k}\left[x^{n}\right] \frac{n!\left(e^{x}-1\right)^{k}}{k!}=n!\left[x^{n}\right] \sum_{k=1}^{\infty} \mathcal{H}_{k}\left(e^{x}-1\right)^{k} \\
& =n!\left[x^{n}\right] \frac{-x}{2-e^{x}}=-n!\left[x^{n-1}\right] \frac{1}{2-e^{x}}=-n \mathcal{F}_{n-1}
\end{aligned}
$$

By means of the Stirling inversion

$$
f(n)=\sum_{k=0}^{n} s(n, k) g(k) \Longleftrightarrow g(n)=\sum_{k=0}^{n} S(n, k) f(k),
$$

we have the summation formula given in the following theorem:
Theorem 3.2 (Inversion formula of (9)).

$$
\sum_{k=1}^{n} k s(n, k) \mathcal{F}_{k-1}=-n!\mathcal{H}_{n}
$$

Similar to the relation between $H_{n}(\ell)$ and Stirling numbers of the first kind mentioned in Section 1, we deduce another relation between $\mathcal{H}_{n}(\ell)$ and $s(n, k)$.

Theorem 3.3 (Identity involving $\mathcal{H}_{n}(\ell)$ and $s(n, k)$ ).

$$
\begin{equation*}
\sum_{m=\ell}^{n} \frac{s(m, \ell)}{m!}=(-1)^{\ell} \frac{1}{\ell!} \mathcal{H}_{n}(\ell) . \tag{10}
\end{equation*}
$$

Proof. By the generating functions of $\mathcal{H}_{n}(\ell)$ and $s(n, k)$, we have

$$
\begin{aligned}
\sum_{m=\ell}^{n} \frac{s(m, \ell)}{m!} & =\sum_{m=\ell}^{n}\left[x^{m}\right] \frac{\ln ^{\ell}(1+x)}{\ell!}=(-1)^{\ell} \frac{1}{\ell!} \sum_{m=\ell}^{n}\left[x^{m}\right] \frac{\{-\ln (1+x)\}^{\ell}}{1-x} \times(1-x) \\
& =(-1)^{\ell} \frac{1}{\ell!} \sum_{m=\ell}^{n} \sum_{k=0}^{m}\left[x^{m-k}\right] \frac{\{-\ln (1+x)\}^{\ell}}{1-x} \times\left[x^{k}\right](1-x) \\
& =(-1)^{\ell} \frac{1}{\ell!} \sum_{m=\ell}^{n}\left\{\mathcal{H}_{m}(\ell)-\mathcal{H}_{m-1}(\ell)\right\}=(-1)^{\ell} \frac{1}{\ell!} \mathcal{H}_{n}(\ell) .
\end{aligned}
$$

In the next theorem, by using the scheme (3), we establish two transformation formulae involving the numbers $\mathcal{H}_{n}(\ell)$, $L(n, k), H(n, k)$, and $s(n, k)$.

Theorem 3.4 (Identities involving $\mathcal{H}_{n}(\ell), L(n, k), H(n, k)$, and $s(n, k)$ ).

$$
\begin{align*}
& \frac{1}{\ell!} \sum_{k=\ell}^{n} k!L(n, k) \mathcal{H}_{k}(\ell)=2^{n} n!\sum_{k=\ell}^{n-1} \frac{(-1)^{n-k}}{2^{k+1} k!} s(k, \ell)+s(n, \ell),  \tag{11}\\
& \frac{1}{\bar{\ell}} \sum_{k=\ell}^{n}(-1)^{k} k!H(n, k) \mathcal{H}_{k}(\ell)=2^{n} n!\sum_{k=\ell}^{n-1} \frac{(-1)^{k}}{2^{k+1} k!} s(k, \ell)+(-1)^{n} s(n, \ell) . \tag{12}
\end{align*}
$$

Proof. First, we prove the identity (11). From the generating functions of $L(n, k)$ and $\mathcal{H}_{n}(\ell)$, we verify that

$$
\begin{aligned}
\frac{1}{\ell!} \sum_{k=\ell}^{n} k!L(n, k) \mathcal{H}_{k}(\ell) & =\frac{1}{\ell!} \sum_{k=\ell}^{n} k!\mathcal{H}_{k}(\ell)\left[x^{n}\right] \frac{n!}{k!}\left(-\frac{x}{x+1}\right)^{k} \\
& =\frac{n!}{\ell!}\left[x^{n}\right] \sum_{k=\ell}^{\infty} \mathcal{H}_{k}(\ell)\left(-\frac{x}{x+1}\right)^{k}=\frac{n!}{\ell!}\left[x^{n}\right] \frac{\left\{-\ln \left(1-\frac{x}{x+1}\right)\right\}^{\ell}}{1+\frac{x}{x+1}} \\
& =n!\left[x^{n}\right] \frac{1+x}{1+2 x} \frac{\ln ^{\ell}(1+x)}{\ell!}=n!\sum_{k=\ell}^{n}\left[x^{k}\right] \frac{\ln ^{\ell}(1+x)}{\ell!}\left(\left[x^{n-k}\right] \frac{1+x}{1+2 x}\right) .
\end{aligned}
$$

Note that

$$
\left[x^{n}\right] \frac{1+x}{1+2 x}= \begin{cases}1, & n=0 \\ (-1)^{n} 2^{n-1} . & n \geq 1\end{cases}
$$

Thus, we have

$$
\begin{aligned}
\sum_{k=\ell}^{n}\left[x^{k}\right] \frac{\ln ^{\ell}(1+x)}{\ell!}\left(\left[x^{n-k}\right] \frac{1+x}{1+2 x}\right) & =\sum_{k=\ell}^{n-1} \frac{(-1)^{n-k}}{k!} s(k, \ell) 2^{n-k-1}+s(n, \ell) \\
& =2^{n} \sum_{k=\ell}^{n-1} \frac{(-1)^{n-k}}{2^{k+1} k!} s(k, \ell)+s(n, \ell) .
\end{aligned}
$$

By the same method as used in proving (11), or from (4), we prove the identity (12).
Finally, we prove two summation formulae involving numbers $\mathcal{H}_{n}(\ell)$ and $\mathcal{F}_{n}$.
Theorem 3.5 (Identities involving $\mathcal{H}_{n}(\ell)$ and $\mathcal{F}_{n}$ ).

$$
\sum_{\ell=1}^{n} \frac{( \pm 1)^{\ell}}{\ell!} \mathcal{F}_{\ell} \mathcal{H}_{n}(\ell)= \begin{cases}\frac{(-2)^{n}-1}{3}, & "+"  \tag{13}\\ n, & "-"\end{cases}
$$

Proof. Using the generating functions of $\mathcal{F}_{n}$ and $\mathcal{H}_{n}(\ell)$, we evaluate the sum

$$
\begin{array}{r}
\sum_{\ell=1}^{n} \frac{( \pm 1)^{\ell}}{\ell!} \mathcal{F}_{\ell} \mathcal{H}_{n}(\ell)=\sum_{\ell=1}^{n} \frac{1}{\ell!} \mathcal{F}_{\ell}\left[x^{n}\right] \frac{\{\mp \ln (1+x)\}^{\ell}}{1-x} \\
=\left\{\begin{array}{l}
-\left[x^{n-1}\right] \frac{1}{1-x} \times \frac{1}{1+2 x}, \\
{\left[x^{n}\right]\left\{\frac{1}{(1-x)^{2}}-\frac{1}{1-x}\right\},}
\end{array}, \quad "-"\right.
\end{array}
$$

The proof follows extracting the coefficients

$$
-\left[x^{n-1}\right] \frac{1}{1-x} \times \frac{1}{1+2 x}=\frac{(-2)^{n}-1}{3} \text { and }\left[x^{n}\right]\left\{\frac{1}{(1-x)^{2}}-\frac{1}{1-x}\right\}=n .
$$

## Acknowledgement

The authors are sincerely grateful to the anonymous referees for the valuable suggestions that contribute significantly to improving the manuscript.

## References

[1] G. S. Cheon, M. E. A. El-Mikkawy, Generalized harmonic number identities and a related matrix representation, J. Korean Math. Soc. 44 (2007) $487-498$.
[2] G. S. Cheon, M. E. A. El-Mikkawy, Generalized harmonic numbers with Riordan arrays J. Number Theory 128 (2008) 413-425.
[3] W. Chu, Harmonic number identities and Hermite-Padé approximations to the logarithm function, J. Approx. Theory 137 (2005) 42-56.
[4] W. Chu, Infinite series identities on harmonic numbers, Results Math. 61 (2012) 209-221.
[5] W. Chu, L. D. Donno, Hypergeometric series and harmonic number identities, Adv. Appl. Math. 34 (2005) 123-137.
[6] L. Comtet, Advanced Combinatorics, D. Reidel, Dordrecht, 1974.
[7] D. Guo, Summation formulae involving Stirling and Lah numbers, Forum Math. 32 (2020) 1407-1414.
[8] D. Guo, W. Chu, Summation formulae involving multiple harmonic numbers, Appl. Anal. Discrete Math. 15 (2021) 201-212.
[9] H. Prodinger, R. Tauraso, New multiple harmonic sum identities, Electron. J. Combin. 21 (2014) 1240-1248.
[10] J. M. Santmyer, A Stirling like sequence of rational numbers, Discrete Math. 171 (1997) 229-235.
[11] A. Sofo, H. M. Srivastava, Identities for the harmonic numbers and binomial coefficients, Ramanujan J. 25 (2011) 93-113.


[^0]:    *Corresponding author (guo.dongwei@njust.edu.cn, guo.dongwei2018@outlook.com).

